
Assembly Instruction
Montageanleitung
Instructions de montage
Instrucciones  de  ensamblaje
Instruções de Montagem
Istruzioni di montaggio 
Base cabinet for cable and hose reels
Unterschrank für Kabel- und Schlauchaufroller
Meuble bas pour enrouleur de câble et tuyau air comprimé
Armario bajo para bobinas de cable y manguera
Armário base para enrolador de cabo + mangueira
Armadietto per cavi e tubi avvolgibili
Art. 3964-28 



EN

2

DE
FR

ES
PT

IT

WARNING

1. Close doors before moving.
2. Do not stand on the product. You may fall which may cause personal injury.
3. Do not mount the product on any moving object.
4. Keep away from children.
5. Unit has a maximum load capacity of 110 kg (45 kg per drawer). Do not overload.

VORSICHT!

1. Beim Transport immer zuerst die Türen schliessen.
2. Nicht auf das Produkt draufstehen, da Sie herunterfallen und sich schwere Verletzungen zu führen 
    könnten.
3. Nicht auf bewegliche Objekte montieren.
4. Von Kindern fernhalten.
5. Das Produkt hat eine max. Tragfähigkeit von 110 kg (45 kg pro Schublade). Bitte nicht überladen.

AVERTISSEMENT

1. Fermez les portes avant de vous déplacer.
2. Ne vous tenez pas sur le produit. Vous risquez de tomber et de vous blesser.
3. Ne fixez pas le produit sur un objet en mouvement.
4. Tenez le produit à l'écart des enfants.
5. L'armoire a une capacité de charge maximale de 110 kg (45 kg par tiroir). Ne pas surcharger.

ADVERTENCIA

1. Cierre las puertas antes de moverse.
2. No se pare en el producto. Puede caerse, lo que puede causar lesiones.
3. No monte el producto con ningún objeto en movimiento.
4. Manténgase fuera del alcance de los niños.
5. La unidad tiene una capacidad máxima de carga  de 110 kg (45 kg por cajón). No se cargue  por 
    encima  de este  peso.  

AVISO

1. Feche as portas antes de movimentar após montado.
2. Não se coloque em cima do produto. Pode cair e causar danos fisicos.
3. Não monte o produto em nenhum equipamento móvel.
4. Manter distante do alcance das crianças.
5. A unidade tem uma capacidade máxima de carga de 110 kg (45 kg por gaveta). Não sobrecarregue.

Attenzione

1. Chiudere le ante prima di muovere il mobiletto.
2. Non stazionate sul mobiletto. Potreste cadere e causarvi ferite personali. 
3. Non montare il prodotto su superfici mobili.
4. Tenere fuori dalla portata dei bambini.
5. Portata massima di 110 kg (45 kg per cassetto). Non superare questi valori.



3

Step 1

Step 2

B

Bolt M6 x 12



4

Step 3

A

Bolt M8 x 12

Universal-Adapter Adapter for Art. 31041



5

Step 4

Bolt M6 x 12

Nut M6

Bolt M8 x 12



6

Step 5

Step 6

Variant A Variant B

Bolt M6 x 12

1.

2.



7

Step 7

WARRANTY

We do not take responsibility for any damage caused by misuse or any use that is not in 
compliance with the safety standards described herein.

CUSTOMER SERVICES

Contact your local importer of your specialized dealer to obtain address of our service 
department.

FROM DATE OF PURCHASE RECEIPT
2 YEAR GUARANTEE

ON MATERIAL OR PRODUCTION DEFECTS



www.kraftwerktools.com

KRAFTWERK Europe AG 
Mettlenbachstrasse 23 
CH-8617 Mönchaltorf

Switzerland 
Tel. +41-44 949 40 50 

KRAFTWERK Sàrl. 
25, rue du Stade 

F – 67870 Bischoffsheim
France

Tel. +33-388 48 64 50 


